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Sketch, marking all intercepts and the coordinates of the turning point
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1) y = (x + 2)2 – 4                     2) y = (x + 3)(2 – x)                      3) y = x2 + x – 2 
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The basic y = x3 graph
A cubic can have 3 sets of brackets 

                eg y = (x + 4)(x – 1)(x + 1)
Steps:

Find and mark the x intercepts

Fit the curve

Sketch 
y = (x + 2)(x + 1)(x – 2)















Equation?

y = 







Sketch

1) y = (x + 1)(x – 2)2                     2) y = (x + 3)2(x – 2)                     3) y = x2 (3 – x) 
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Starter





y = ±(x + a)(x + b)(x + c)  





y = ±x(x + a)2 





y = ±(x + b)3 





Cubics





y = ±x2(x + a) 
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Examples





Cubics





Theta Ex 10.04








y = ±x3 + c  








